

Oblicz, skracając jeśli to możliwe:

$$4\frac{3}{4} + 3\frac{5}{6}$$

$$5\frac{5}{6} + 4\frac{5}{8}$$

$$3\frac{7}{10} + 4\frac{4}{5}$$

$$5\frac{4}{7} + 6\frac{2}{3}$$

$$4 - 1\frac{3}{7}$$

$$3\frac{1}{10} - \frac{2}{4}$$

$$4\frac{5}{9} - \frac{2}{3}$$

$$5\frac{1}{6} - 2\frac{4}{9}$$

$$3 \cdot 4\frac{2}{5}$$

$$\frac{15}{16} \cdot \frac{8}{25}$$

$$5\frac{1}{4} \cdot 1\frac{1}{9}$$

$$1\frac{5}{7} \cdot 4\frac{3}{8}$$

$$7 \div \frac{2}{3}$$

$$\frac{9}{25} \div 18$$

$$\frac{12}{35} \div \frac{8}{45}$$

$$1\frac{7}{9} \div \frac{10}{21}$$

$$3\frac{3}{4} \div 1\frac{7}{8}$$